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Part 1l

Note that in this exam., a standard formal language for propositional logic, £¢ and
a formal language for predicate logic, Lgare assumed.

Please answer no more than three questions but up to, or over, a maximal
combination of 25%. (34E8 — & = Zi/E 4 A2i® 25%% % 1L 25%%t)

(1) (10%) Are there any good reasons for the realist to claim that there are
propositions which are abstract entities of some kind? Or are there any good.
arguments against the realist’s view? -

(2) (10%) What is Tarski’s T-scheme? How does Tarski characterize the concept
of truth by the appeal to T-scheme?

(3) (10%) What is a propositional attitude? In what sense, a sentence expresses a
certain propositional attitude is said to be opaque? C

(4) (15%) In what sense a set is said to be decidable? In what sense a standard
formal language for. propositional logic, Ly and a formal language for

propositional logic is said to be decidable? Why predicate logic is not
decidable? i

(5) (15%) Intuitionistic logic (also known as constructive logic) is a symbolic
logic system that differs from classical logic semantically in its definition of
what it means for a statement to be true. Explain, from a semantic point of
view, what makes intuititionistic logic different from classical logic,
Syntactically, intuitionist logic also differs from classical logic, in what sense?
Some logicians claim that intuitionistic logic is a subsystem of classical logic.
Would you agree? Why? Ironically, some maintains that intuitionistic logic is
an extension of classical logic. Would you agree? Why?

(6) (15%) Almost all logicians and philosophers use, or accept, so-called logical
symbols, such as —, v, —, A, 3, Vin the construction of a formal language fora
formal system. They are known as logical constants, or logical operators, or
connectives. But exactly what the meaning of a logical constant is remains
open to dispute. At present, there are two dominant accounts: )
model ~theoretic account and proof-theoretic accounts, Explain what they are
and show any difficulty with either of them.

predicate logic, Lo are said to be decodable? In what sense classical.
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